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Questions!      100% Exam Pass Guaranteed! NEW QUESTION 41 - NEW QUESTION 50: 1.|2016.08 New 1V0-601 Exam

Dumps(PDF & VCE) 110Q&As Download:http://www.braindump2go.com/1v0-601.html 2.|2016.08 New 1V0-601 Exam Questions

& Answers:https://drive.google.com/folderview?id=0By4UOHgxZ9SUY05XR1E2cWpjd2c&usp=sharing QUESTION 41What is

the name of the logical volume that vSphere 6.x uses to store virtual machines files? A.    Virtual VolumeB.    DatastoreC.    Logical

Unit Number (LUN)D.    Raw Device Mapping (RDM) Answer: B QUESTION 42Which two statements are true about local

storage? (Choose two.) A.    It requires a compatible Host Bus Adapter in the host.B.    It requires a storage network to communicate

with the host.C.    It is a virtual storage.D.    It is a direct-attached storage. Answer: AD QUESTION 43Which three statements are

true regarding VMware NSX? (Choose three.) A.    Requires dedicated network devices.B.    Can handle data across virtual

switches.C.    Can handle data across physical switches.D.    Is independent of the underlying network hardware.E.    Has the ability

to be deployed on any IP network. Answer: BDEExplanation:

https://www.vmware.com/files/pdf/products/nsx/VMware-NSX-Network-Virtualization-Platform-WP.pdf QUESTION 44What are

two features of vSphere with Operations Management? (Choose two.) A.    Enables proactive identification of system issues through

predictive analysis.B.    Allows reclaiming overprovisioned capacity to increase resource utilization.C.    Provides a secure portal for

requesting new IT services.D.    Delivers real-time log management. Answer: AB QUESTION 45Which datastore type can be

extended to span several physical storage extents, including storage Area Network LUNs and local storage devices, in order to create

a datastore that fits the needs of your virtual machines? A.    Virtual SANB.    NFSC.    iSCSID.    VMFS Datastores Answer: D

QUESTION 46What are two advantages of using vSphere Data Protection In a data center? (Choose two.) A.    Creates new virtual

machines.B.    Migrates virtual machines.C.    Ensures minimum impact on network bandwidth.D.    Provides increased backup data

capacity. Answer: CD QUESTION 47Which statement best defines virtualization? A.    The process of scaling applications and

licenses to support multiple hostsB.    The process of moving virtual machines from one .place to anotherC.    The process of

replicating virtual versions of physical componentsD.    The process of creating virtual versions of physical components Answer: D

QUESTION 48Virtual Volumes virtualize-Storage Area Network and Network Attached Storage devices into logical pools of

capacity.What are these pools of capacity known as? A.    Virtual SAN DatastoresB.    NFSC.    VMFS DatastoresD.    iSCSI

Answer: A QUESTION 49What are two features of vSphere 6.x that helpaddress the availability challenges that organizations face?

(Choose two.) A.    Deploying from TemplatesB.    Host ProfilesC.    High AvailabilityD.    Fault Tolerance Answer: CD

Explanation:VMware vSphere 6 will provide customers with a highly available, resilient, on-demand cloud infrastructure to run,

protect and manage any application VMware vSphere 6 appealing due to the new availability and fault tolerance capabilities for

protecting applications on-premises.

http://www.vmware.com/company/news/releases/vmw-newsfeed/Introducing-VMware-vSphere-6---The-Foundation-for-Hybrid-Clo

ud/1920294 QUESTION 50Which two issues do organizations hope to solve with Data Center Virtualization? (Choose two.) A.   

High inefficiency of the Data CenterB.    High operating expensesC.    Low bandwidth utilizationD.    Increased CPU utilization

Answer: AB  !!!RECOMMEND!!!   1.Braindump2go|2016.08 New 1V0-601 Exam Dumps(PDF & VCE) 110Q&As Download:

http://www.braindump2go.com/1v0-601.html 2.Braindump2go|2016.08 New 1V0-601 Exam Questions & Answers:

https://drive.google.com/folderview?id=0By4UOHgxZ9SUY05XR1E2cWpjd2c&usp=sharing
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